Luke 7:11-17  Son of Widow at Nain — Raised from the dead by Jesus

11 Now it happened, the day after, that He went into a city called Nain; and many of His disciples
went with Him, and a large crowd. 12 And when He came near the gate of the city, behold, a dead
man was being carried out, the only son of his mother; and she was a widow. And a large crowd
from the city was with her.

13 When the Lord saw her, He had compassion on her and said to her, Do not weep." 14 Then He
came and touched the open coffin, and those who carried him stood still. And He said, "Young man,
I say to you, arise." 15 So he who was dead sat up and began to speak. And He presented him to his
mother.

16 Then fear came upon all, and they glorified God, saying, "A great prophet has risen up among
us™; and, "God has visited His people.” 17 And this report about Him went throughout all Judea and
all the surrounding region. NKJV

Facts Revealed:

1 Nain is a small town on the northern slope of the Hill of Moreh, a short distance from Shunem
where Elisha had raised the son of the Shunammite, 20 miles from Capernaum, facing the
Jezreel valley, about 6 miles south east of Nazareth , south west of Mount Tabor, north of
Mount Gilboa where King Saul and his three sons had died in battle with the Philistines.

1 Jesus had come from Capernaum with a large crowd following Him. They arrived at the gate
of the city and met a funeral procession as they were carrying a dead man from the city of
Nain for burial, he was the only son of his widowed mother, and a large crowd accompanied
them from the city.

Jesus had compassion on the woman and said to her, "Don't weep," Then He touched the
coffin and those who were carrying it stood still.

Jesus spoke the Word and the young man was raised from the dead, Jesus presented him alive
to his mother.

Then fear came upon all, and they glorified God, saying, "A great prophet has risen up among
us"; and, "God has visited His people.”

The report about Him went throughout all Judea and all the surrounding region.
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